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Q.No: 1
A

B
C
D

Q.No: 2

Q.No: 3

O 0 w

Q.No: 4

o 0 W P

Q.No: 5

o 0 w

Q.No: 6

o 0 @ >

Which of the following freedom fighters edited the Bande Mataram newspaper? Frafafea & 9 59 wWdaar SFt 3 69 Taey GUER 9 ST @
Devendranath Tagore Ty AR

Sri Aurobindo Ghose ot R Wiy

Barindra Kumar Ghose aﬁawtﬁq

Bipin Chandra Pal faft % wra

Statutory liquidity ratio (SLR) is 3P TR SUTd (SLR) H!

The ratio of money bank have with it and money it has lended. ¥ & U o &7 SfUTT SR I gRT IUR fear mar o=

:::ur:::?::lum percentage of deposits a bank has to maintain in the form of liquid cash, gold or other o o B o TRy BT A e : -

The interest rate at which RBI lends money to the banks. 98 = R Ry W Gﬂ?iﬁaﬂ'&‘ do) B T SUR a1 8

A provision sometimes used in lines of credit as a sublimit on the maximum amount that can be T T R walt-mift 3UR & o1 3 arelt afd a
borrowed.

Ghaggar is the only seasonal and main river of which state? TR {5 35T B U A At 7 g9 A 82

Rajasthan IR

Punjab i

Haryana g

Uttar Pradesh I TS

:’::;Zl:/;xi;_ifferent kinds of seals discovered at the various sites of Harappan civilization. Choose the wrong out of . ¥ Rt @l w) RR R R RC il

The Unicorn Seals Eﬁ?b‘ﬁiﬁw

The Gauri Ganesh Seals TR oy Wl

The Shiva Pashupati Seals Rra ugpufa e

The Animal Seals S @t Il

Rukmini Devi is related to which of the following dance styles? ol 3t Fofafea § ¥ fra 7o Aeh & Fefda &2
Manipuri ﬂ'ﬁl‘g’&

Kathak DYD

Kuchipuri FHRIgH

Bharatanatyam KLIGEIG ]

Which |f5 the seconfl longest river of India by length after the Ganga and also has one of the largest river basins in T % e WRd 9 m T et T B Y ol e 3T
the Indian subcontinent?

Krishna River P Tt
Kabini River EgIERiECil
Godavari River Teradt 7t

Noyyal River e T


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Q.No: 7 With Harappa civilization, which among the following civilizations was not associated?

A

B
C
D

Q.No: 8

o 0 w

Q.No: 9

o N w

Q.No: 10
A

B
C
D

Q.No: 11

o 0 w

Q.No: 12

o 0O w

Q.No: 13

o 0o m >

Q.No: 14

o 0O W

Q.No: 15

Mesopotamian
Egyptian
Sumerian

Chinese

Kuchipudi classical dance is associated with which of the following states?
Madhya Pradesh

Andhra Pradesh

Uttar Pradesh

Kerala

Which of the following personalities has inspired the Dalit movement?
Dr B.R. Ambedkar

Hargobind Khorana

Rabindranath Tagore

Mother Teresa

Sattriya is a of India.
Painting

Harvesting Machine

Martial Arts

Classical Dance

Which of the following dance is not related to central India?
Matki Dance
Grida Dance
Rouf Dance

Jawar Dance

Reserve Bank of India is known as the Lender of in India.
Last Resort

First resort

Second Resort

Third Resort

When did the Securitization and Reconstruction of Financial Assets and Enforcement of Security Interest Act

(SARFAESI) come into force?
2004
2001
2002
2003

Regarding the temples during the Chola period, which statement is false?
The temples had massive vimanas or towers

The temple was the centre for social activities

'Gopuram' was the courtyard of the temple

Most of the Chola temples were built in Dravidian style

Recently who has become the first female astronaut of UAE?
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Q.No: 16

o 0 w

Q.No: 17

o 0O w

Q.No: 18

O 0 w

Q.No: 19

o 0w

Q.No: 20

o 0w

Q.No: 21

O 0 m >

Q.No: 22

o 0o w

Noura Al Matroushi
Samia Suluhu
Jameela Al Muhairi

Sheikh Fatima

Which of the following statements is not correct about the “Gupta Kingdom"?
Religious sacrifices were not held at that time.

The revenues of the state came from the taxes on cultivated land.
Most of the Gupta kings were Vaishnavas.

Ramayana and the Mahabharata were rewritten at that time.

Which of the following is an incorrect pair?
MayilAttam dance - Madhya Pradesh
Dandiya dance - Gujarat

Rouff dance - Jammu and Kashmir

Fugdi dance - Goa

Reverse Repo Rate is
Interst rate given by bank to it's customer

The fee taken by bank to exchange one currency to other

The rate at which the RBI borrows money from banks for the short term.

The interest rate at which RBI lends money to commercial banks

Which Ocean has the largest number of trenches and the deepest trench in the world is?

Arctic Ocean, Mariana Trench
Pacific Ocean, Mariana Trench
Atlantic Ocean, South Sandwich Trench

Indian Ocean, South Sandwich Trench

Who has written the book "Because India Comes First”?
R. Kaushik

Arundhati Roy

Ram Madhav

Sukhmeet Grewal

Direction: The following question consists of two statements one labeled as * Assertion” and the other as
“Reason”. You have to examine these two statements carefully and select the correct answer to the question

from the given options.

Assertion (A): Fungi cannot prepare their food.
Reason(R): They are autotrophic.

only (R) is true

(R) is the reason behind the assertion.
only (A) is true

Both (A) and (R) are correct.

A glass of water and freezing it by placing it in the freezer is a change.

Endothermic
Exothermic
Physical change

Chemical change
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Q.No: 23 is the inability of the eye to focus on distant objects. R P gl R FH Bfod FA F oi@ @1 sfemd
A Glaucoma RG]

B Myopia e = v

C Hypermetropia difef®

D Cataract wifeanfag

gt 31 95 TRA S A WD T iR el et Ar o

Q.No: 24 The layer of earth that is known to be outermost and innermost respectively?

A Core and crust BR R B
B Crust and mantle e 3R Hewa
C Mantle and core Aot SR B
D Crust and core e 3R R
Aofofad o fyan
Match the following :
1 | sea® Al ¥ F |y et
1 |[Loo A | Sleet
Q.No: 25 5 . X
2 | Layers free from clouds B |Stratosphere = m#ﬁ,ﬁm B | TR
3 | Precipitation C | Local winds 3 | aor C | v gard
A 1.A, 2.C, 3.B 1.A, 2.C, 3.B
B 1.C, 2.B, 3.A 1.C, 2.B, 3.A
C 1.B, 2.A, 3.C 1.B, 2.A, 3.C
D 1.A, 2.B, 3.C 1.A, 2.B, 3.C
rcors, Tl avestor s of st ore ek v ton 0 b o8, o ) o
s : J 1 ST 57 G Tl Pt WA Wi e § ok R g
from the given options.
Q:No: 26 BT (A) : WD TR AR TR T TR BT 81

Assertion(A):Plastics impact animals and the environment.

HRU (R) : 80 q SR @D H1 HIoH & w9 & @[ & R

Reason(R): Many animals consume plastic as a food and eat it by accident.

A Both A and R are true but R is not the correct explanation of A. A 3R R 31 ¥ € Afe R, A 9 T aaren 7€) wwar 21
B Both A and R are true and R is the correct explanation of A. A SR Rﬁﬂﬂ% 3R R, A B el ?ﬂ]’@ﬂm%l

C A is true but R is false. A 9 3 Af% R o1 B

D Both A and R are false. A 3R R Y 39 T

fofafea & ¥ $F 91 T 31 T dew A IRk

Q.No: 27 Which of the following water samples should be neutral?

A pH 8 Hiea s
B pH5 dlga 5
C pH 9 Hiea 9
D pH 7 fea 7

Q.No: 28 Which metal reacts vigorously with water? FH- og 5 F Wy g AT Fdt g2
A Iron eT

B Copper e

c Sodium <ifeaa

D Gold T

Q.No: 29 A is used for diesel. e & fore wan o wmar 21
A Peat e

B Octane rating 3ife e

C Cetane rating e e

D Methane WA
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Q.No: 30

o 0 w >

Q.No: 31 The white revolution was to achieve the increase in production of what?

A

B
C
D

Q.No: 32

o 0 w

Q.No: 33

o 0O W

Q.No: 34

o 0w

Q.No: 35

o 0O w

Q.No: 36

o 0O w r

Q.No: 37

Reeta observed some features of the animal possessing a moist skin-covered body that breathes through lungs
when they become adults. Help Reeta infer that to which class this animal belongs to?

annelids
arthropods
coelenterates

amphibians

Rubber
Milk
Cheese

Curd

Which one of the following possesses true roots, stems and leaves?
bryophyte

thallophyte

pteridophytes

spirogyra

Who gave us three Laws of Motion?
Niels Bohr

Albert Einstein

Isaac Newton

Thomas Alva Edison

Penicillin is produced by a fungus
Albugo

Puccinia

Rhizopus

P. notatum

Foam accumulates on the surface of ‘dal’ kept for a long time in summer. Why ?

Dal contains high carbohydrates and fats
Due to high temperature the proteins get denatured.
Dal is edible .

Dal surface temperature becomes cool.

Suresh’s sister is the wife of Ram. Ram is Rani’s brother. Ram’s father is Madhur. Sheetal is Ram’s grandmother.
Rema is Sheetal’s daughter-in-law. Rohit is Rani’s brother’s son. How is Rohit related to Suresh?

Brother
Nephew
Son

Brother-in-law

Choose the correct mirror image of this combination- XZHIYS68TR.
ATZ0RYIHXX
ST8RYISHX
SATEIRYIHSX

AT20RYHISX
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Q.No: 38 A, B and C are playing in the ground. B is the brother of A and son of C. How is C related to A? A, B AR C A A Fa | B B, A ﬁiﬂ’s‘% R C WQ’:I%I
A Uncle T

B Daughter ot

C Son w

D Father forem

In the following question, a series of letters is given. Some letters have been removed in these series, and they are fafafaa uy & el o Ue g@en <t 78 81 37 d@as # ¢
in the options given below the series in the same order as they should be. Study the given series carefully out of ~ # ¥ 99 32 g1 a1feul 9 RY ¢ IR fawedi & 9 & 75 9k

—_—— the four alternatives given below, and find the one that best fits in place of the missing letter of the series. fa@eq @l ol T8 SUgH J1
.No:
_cb__aca__bba__ac__bacac __cb__aca__bba__ac__bacac
A becbca bcbca
B abchba abcba
C cbaca cbaca
D abcch abcchb
PSQ® HY & P, Q&N AT &
P $ Qmeans Pis the mother of Q i
P 7 Qmeans Pis the father of Q PWQETL}T&(I%P,QWﬁ?{T%
Q.No: 40 P @ Qmeans Pis the husband of Q P@ZQFT Hﬁ'%%PQTﬂ‘TﬁTg
P %Q means Pis the daughter of Q o
A @ B S C+ D indicates whatrelationship of A with D? #oQ T o 3% P.Q# ‘1‘9& 8
A@BSCHDSRIA FaT s fF AFT DF WU &
A Maternal grandmother EIEi]
B Maternal grandfather A
o} Paternal grandfather <lel
D Paternal grandmother B
Q.No: 41 Choose the correct mirror image of this combination- YT23WE. 39 G B Tel g4 B gH- YT23WE
A WISEYT W3ISEYT
B YTSEWS YTSEW3
C YTESIW YTESIW
D IWESTY IWESTY
Q.No: 42 Choose the correct mirror image of this combination- PO56RT T e 31 I8 40 Bfy ﬂef— PO56RT
A 0902AaT 090cAT
B TAa209 TAoc09
o 9002TA 9092TA
D TAa<90 TAa290
Select the mirror image of the given figure when the mirror is placed to the right of the figure. & TE T BT U0 B T TG HY O YU B SATBIT B T
Q.No: 43
A
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Q.No: 44
A

B

Q.No: 45

o 0 w r

Q.No: 46

o 0 W

Q.No: 47

o 0 w >

Q.No: 48

o 0O wm >

Q.No: 49

eY

Choose the correct mirror image of this combination- ABCD.
gddA
aoda

2d9A
agna

Select the letter-cluster that can replace the question mark (?) in the following series.

K-1,1-2,M-3,N-4,0-5,?
P-8

P-10

P-6

w-12

Rahul is the son of Ravi, who is the husband Radhika. How is Radhika related to Rahul?
Wife

Sister

Mother

Cousin

Given question has main statement followed by four statements. Choose the ordered pair of statements, where
the first statement implies the second, and the two statements are logically consistent with the main statement.

The humans are either capable or incapable of changing environment
A. The humans are capable of changing environment

B. The humans are not capable of changing environment

C. The humans are incapable of changing environment

D. The humans are not incapable of changing environment
DA
AC
BD
AB

In the following question, a series of letters is given. Some letters have been removed in these series, and they are

in the options given below the series in the same order as they should be. Study the given series carefully out of
the four alternatives given below, and find the one that best fits in place of the missing letter of the series.

__bb__aab__baaa__bb
babb
bbaa
abab

aabb

Given question has main statement followed by four statements. Choose the ordered pair of statements, where
the first statement implies the second, and the two statements are logically consistent with the main statement.

Life is either success or a failure
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Q.No: 50

o n o >

Q.No: 51

o n w >

Q.No: 52

o 0 «w >

Q.No: 53

o 0O m »

Q.No: 54

O 0 W

Q.No: 55

eY

A. Life is a success

B. Life is a failure

C. Life is not a success
D. Life is not a failure
CB

DB

cD

AB

Select the option that is related to the third word in the same way as the second pair is related to the first pair.
Godan: Novel :: Wings of Fire : ?

Comic

Horror

Biography

Autobiography

Select the option that is related to the third word in the same way as the second pair is related to the first pair.
Passive : Active :: Different : ?

Everyone

Alone

Group

Variant

Given question has main statement followed by four statements. Choose the ordered pair of statements, where

the first statement implies the second, and the two statements are logically consistent with the main statement.

One either does not follow religion or does not follow humanity
A. One does not follow religion

B. One follows religion

C. One does not follow humanity

D. One follows humanity

AB

cb

BC

DB

Select the Lettered pair that has the same relationship as given in the question:
Cereals : Grit

Pulses : Metanil

Haldi : Turmeric

Milk : Sugar

Dal : Pulses

Jay is the brother of Sayan’s uncle. Sayan’s grandfather has only two sons. How is Jay related to Sayan?
Brother

Uncle

Nephew

Father

Select the Lettered pair that has the same relationship as given in the question:

Defunct : Life

Arid : Desert
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Q.No: 56

o 0O w »r

.No: 57

Qo

o 0o ® »

.No: 58

QO

o 0 w »

Q.No: 59

O 0O W

Q.No: 60

o 0o @ >

.No: 61

Qo

o 0 W >

Q.No: 62

o 0 W

Orderly : Pattern
Stagnant : Motion

Obese : Weight

1
What is the difference between the compound interest on Rs 5000 for 7 years at 4% per annum
compounded yearly and half yearly?

Rs 4.80
Rs 8.30
Rs 3.06
Rs 2.04

If a man gains a profit of Rs.400 after selling an item and the cost of the item is Rs.1000. Find the percentage of
profit,

28.57%
66.66%
20%

40%

If stormbreaker is made up of Uru and Vibranium which weighs 120 kg. Out of which the weight of Vibranium is
60%. Then how much vibranium should be added to it so that it contains 70% vibranium?

40 kg
35 kg
45 kg
42 kg

Rohan purchased a car for Rs. 250000 and sold it for Rs. 348000. What is the percent profit on the car?
39.2

38

38.4

40

If the average of 65 numbers is 18, the average of the first 33 numbers is 19, and the average of
the last 33 numbers is 20.5, then the 332 number is:

122

113.5

132

133.5

38 liters of milk was poured into a tub and the tub was found to be 5% empty. To completely fill the tub, what
amount of additional milk must be poured?

2 liters
1 liter
3 liters

4 liters

If the cost price is Rs 300 and the profit percent is 33.33%. What is the selling price?
Rs 450

Rs 333

Rs 400

Rs 366.66
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450 TTA

333 ¥0

400 ¥

366.66 T
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Q.No: 63 Find the compound interest when principal Rs.4300, rate = 2% per annum and time = 2 years. 4300 ¥4 P GEE ?ﬂm@ I 1 DI o6 S R 2%
A Rs.173.72 Rs.173.72
B Rs.436.41 Rs.436.41
C Rs.987.36 Rs.987.36
D Rs.250.66 Rs.250.66
What will come in place of question mark (?) in the following expression? T A d cdete 7 9= g (7) & T W T
Q.No: 64
?%of (816 + 840+~ 7 + 5) =5712 (816 + 840 +7 +5)&HI? % =5712
A 679 679
B 680 680
C 676 676
D 682 682

The sum of money which when given on compound

i 0
Q.No: 65 "terest of 20% per annum would fetch Rs.153.0625 v ooy a3y 7 wvafs el TR 209% e wr R e iren & 1 et T 30 € 8, < 90 i 39 9 g A T 155

more when the interest is payable quarterly than
when it was payable annually for 1 year is:

A 12,000 12,000
B 10,000 10,000
c 20,000 20,000
D 24,000 24,000
Q.No: 66 At what rate of compound interest p.a. will a sum of Rs. 40000 becomes Rs. 64516 in 2 years. Hfay Thqfs s PI fHF T W 40000 T94 FI AR 2 96 ¢
A 24% 24%
B 27% 27%
c 23% 23%
D 17% 17%
Q.No: 67 Find t'he.e strength of alcohol in the new solution, when 2 litre of water is added to 7 litres of alcohol-water solution e & e o T T Hﬁ, S 50% e T

containing 50% alcohol strength.
A 35 % 35 %
B 36 % 36 %
C 38.88 % 38.88 %
D 39.42 % 39.42 %
Q.No: 68 Whatis 40% of 807 80 BT40% FT3?
A 36 36
B 34 34
(o] 32 32
D 33 33

h f R Id thi his fri Ben for R . H h f fi

Q.No: 69 .;aa?:ss bought a bat of Rs 500 and sold this to his friend Ben for Rs 650. How much percentage of profit James SR 500 T T T a1 ol 38 o AT AT B 6
A 40% 40%
B 30% 30%
(o] 33.33% 33.33%
D 20% 20%

It is estimated that there are 523 people on average in every square kilometres of land in a village. TF 3HM & 3IER & Tiq § Ul a1 fpanfiex ofr # o
Q.No: 70

The area of the village is 15 square kilometres. Find the population of the village. Tiq &1 & 15 @1 framieR 81 7ifa &1 SFRRe F1d $ifore
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A 7845 7845
B 7964 7964
C 7864 7864
D 7854 7854
Q.No: 71 IfA=2and C=4,then PARTICLE=___ PIA=283RC=4,FMPARTICLE=_______ RI
A 1721921104136 1721921104136
B 172192094126 172192094126
C 1621820104136 1621820104136
D 172172094136 172172094136

Which of the following will come in the place of question mark? FofaRyd § & T uyards fog & RIM W) 1 ?
Q.No: 72

a_a_bb_a_ba_ a_a_bb_a_ba_
A ababb ababb
B babaa babaa
C abbab abbab
D aabba aabba
Q.No: 73 IfA = 4 and C = 6, then how will you code POWER? g A = 4 3R C = 6 &, Tl 31T POWER &I FY Feas
A 181725720 181725720
B 191825821 191825821
[of 191826821 191826821
D 131726821 131726821

In a row of 42 persons. Richa is 26th from the left side of the row and Rajan is 19th from the right side of the 42 el @ T ufe H, S ufe ot a8 iR § 269 ™A T
Q.No: 74 . How many persons are sitting between them? I o fban =afda 9% &2
A 3 3
B 1 1
C 2 2
D 4 4
Q.No: 75 In a certain code BRIGHT is written as JSCSGF. How is JOINED written in that code? & FAfd He uTw F, BRIGHT $1 ISCSGF RraT e g1 J01
A None of the given options fou e fawenl & @ TS &Y
B KPJCDM KPJCDM
C JPKMDC JPKMDC
D JPKEFO JPKEFO

Find the missing term. U I DI

§594 7254 $594 7254
Q.No: 76 16 - 16 .
8338 6770 8338 6770
A 25 25
B 26 26
(o 22 22
D 29 29
F Uy W g emufRy ool S

Q.No: 77 In the question below, there are few statements followed by few conclusions. You have to take the given i e e uy A, $7 T F 98 $9 ey Ry MU § em

statements to be true even if they seem to be at variance with commonly known facts and then decide which of  Wdlla g1 ¢k f fofg & for fau mu freersf & & &1 @1 fgw m

the given conclusion logically follow(s) from the given statements.
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o 0 w >

Q.No: 78

o 0O w >

Q.No: 79

o 0 w >

Q.No: 80

o 0w

Q.No: 81

o 0w

Q.No: 82

o 0 @ >

Statements:

Some banks are private.

No private is public.

All public are schools.

Conclusions:

I. Some banks are not public.

II. No private is school.

Neither conclusion I nor II follows
Only conclusion II follows

Either conclusion I or II follows

Only conclusion I follows

Find the missing term.

4 3
16 9
64 ?

8

27

32

12

Which of the following will come in the place of question mark?
aab - ab - cabcca - beab - ¢

cbab

bbbc

bbab

cabb

In a code language, PASTEUR is coded as TPRUASE. How would SEVENTY be coded in that language?

NSYTEVN
ESYETNV
ENVETYS
ESYTEVN

In a row of 60 students, A is 37% from right end. Then find the rank of A from left end.

27th
26th
24th

21st

In a row, Gaurav is 2224 from left end and Vineet is 26% from right end. When they interchange their
position respectively, then Vineet becomes 31 from right end. Then what will be Gaurav position from

left after interchanging?
28th
29th
27th
30th

GET IT ON

Google Play

$9 3%, TRAT Y |

15 W wIRae, Ul T B

it ufers, wa B

ﬁ'ﬁﬂf:

1. 3o 3%, Ul T 8

1.7 0 wrgde, wga T R
ARSI ITR 11 SR Fen &
Faet Prepd 1T SrgeRv Fear &

a1 o Frepd 1 AT 1T SRR Rl B
Fad Freed 1 SR ar &

qW 9T 1 B

4 3

16 9

64 ?

27
32
12

Fofifed & 4 T vaEs forg & M W e ?
aab - ab - cabcca - beab - ¢

cbab

bbbc

bbab

cabb

foreft Foe utr &, PASTEUR &Y TPRUASE et wiren €1 3t «
NSYTEVN
ESYETNV
ENVETYS
ESYTEVN

60 B B T Ufd & A T BR | 374 WA W §1 A ¢
274
264t
24t
21t

T UfRT #, 1iRa a8 B8R § 229 R fFfla @ s 2«
3131 81 a1 1 o 91 9 7Ra T R 1 g

284qi
294qf
274i

3o4qi
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Q.No: 83

o 0 w »r

Q.No: 84

o 0 w r

Q.No: 85

o 0O W >

Q.No: 86

o 0 w >

Q.No: 87

o 0 w >

Q.No: 88

In the question given below, some statements are given followed by few conclusions. You have to consider the
statements to be true even they seem to be at variance from commonly known facts. You have to decide which of
the given conclusions, if any follow from the given statements.

Statements:

All banks are shops.

Some are shops are houses.
Conclusions:

I. All bank are houses.

I1. Some shops are banks.

both conclusion I and II follow
only conclusions II follows
only conclusion I follows

either conclusion I or II follows

GET IT ON

Google Play

413 R T vy F, $8 Fu 3R ITF 915 $o Ay R M
wied B &1 S I8 7 e § b R e ! # § @

CCEH

o 5 gar 3

FT TIM, W

forepd:

L of §F W E

1. $F §PH 3% Bl

frepd 1 3R 11 P ST B B
et e 11 rERYT SR §
Fad Fepd 1 e FaT &

a1 Y freed 1 a1 11 e Bear @

Faiza collected more mugs than Suraiya but less than Saifina, Roohi collected more mugs than Razia but less than el & GXaT ¥ & afee Jwi1 ¥ H0 77 1A fFul T 3

Heena. Saifina collected less mugs than Razia. Who obtained the most mugs?

Saifina
Heena
Razia

Roohi

Find the missing term.

VA
N

64
40
66
54

Which of the following values are equal?
(iy4* (i) 1* iy 4®  (iv) 0*

III and IV

Iand IV

II and III

IandII

Ajay bought a total of 12 oranges and 18 bananas for Rs. 84. When the cost of each orange doubles, he could buy
6 oranges and 16 bananas for Rs. 80. Find the cost of each banana.

Rs. 3
Rs. 2
Rs. 4
Rs. 5

If the area of circular field is 110 sqg.m, then its diameter will be:

AW 7 o ¥ 1 71 0T bl w1 e o
AW

K

R

=@

VA
VoY

64
40
66
54

Tafaiea & ¥ ol ¥ a1 el §2
(4 (i)y1*  (iiy4®  (iv) O
III 3R IV
13RIV
11 3R 111
1R II

ST T T 12 TR IR 18 FA 84 T0U H WG| T YIS 1
TiiE Toel ¥1 TS HA BT IR I BT

3%.
2%.
4%.
5%.

I FABR AGH BT §IBa 110 T Hiex B, o SHHT AN &
2+/35
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Q.No: 89

o 0O @& »

Q.No: 90

o 0 w

Q.No: 91

o 0O w

Q.No: 92

Q.No: 93

o 0O w >

Q.No: 94

o 0O w

Q.No: 95

o 0w

Va2

What will come in place of the question mark in the following question?

3% x 217 x 4225 + 225 x 735 = 217
8

12.5

10

6.5

Roopa is twice as old as Kiran. If 10 years ago, Roopa was 4 times as old as Kiran, then the present ages
of Roopa is:

38 year
20 year
28 year
30 year

Which of the following is divisible by 6?
981562617

72662118

87645789

34278900

Find the largest fraction of the following fractions?

21

113

19
98
13
69

6

35

What value would come in place of the question mark (?) in the following equation?
63.75 % of 5600 + 42 % of 3250 =?

4975

4675

4835

4935

The length of a rectangle is 20 m. If the perimeter of the rectangle is 200m, find its area.
1520 sq. m
1600 sq. m
2480 sq. m

2520 sq. m

Which of the following is divisible by 8?
9828342
2345840
8561234
1689204

GET IT ON

Google Play

Va2

Fofafad uy # uy fig & M W 91 e

3% x 217 x 4225 + 225 x 735 = 217
8

12.5

10

6.5

w1 3 oy v & g 5t T R AR 10 o gd w

38 qf
20 9
28 af
30 9§

I TS R A F smafy
Fofafea # & o1 6 4 favra 32
981562617
72662118
87645789
34278900

FProfefaa el 3 § 9o 7t fi 3 e

21

113

19
98

13
69

6
35

Fofiiaa afiexo & wyars forg (7) F WIH W 381 9H o1
5600 BT 63.75 % + 3250 HT42 % = ?

4975

4675

4835

4935

T 3G B Garg 20 Hex 1 TR 3mad 1 uikAD 200 W g,
1520 &f Hiex
1600 T Hiex
2480 i Hiex
2520 7 Hiex

Fofifda & 3 o 8 ¥ v 2
9828342
2345840
8561234
1689204
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Two bills, one of Rs 27 .50 and the Rs 13 are to be paid in the coins of the same kind. Find the largest coins that 27,50 ¥4 3R 13 ¥U3 & & f¥cll &1 & & e F ol

Q-No: 96 can be used. w3
A 25p 25 19
B 10 p 1099
c 50 p 50 T
D 20 p 20 1
Q.No: 97 The HCF of two numbers is 11 and their LCM is 693. If one number is 77. Find the other number? 3 EAISH FTAE.T. 11 3R ST1 0.9.9. 693 31 AR T
A 99 99
B 96 926
C 76 76
D 20 90

The sum of the ages of father and son is 38 years. 4 years ago the product of their ages was 4 times the father's a1 3iR G @t 31g &1 41 38 9 §1 4 9¥ Ugd 19t 3G &
Q.No: 98 age at that time. The present ages of the father and son are respectively ol Y HHR: ?-
A 26 years, 12 years 26 94, 12 T
B 28 years, 10 years 28 H‘Sf, 10 af
C 36 years, 2 years 36 94, 2 a9
D 30 years, 8 years 30 Hﬁf, g af
Q.No: 99 is divisible by 13. 13 ¥ =g R
A 65520 65520
B 68781 68781
C 43127 43127
D 41305 41305

© MPESB. Al rights reserved

Q.No: 100 The smallest square number, which is exactly divisible by 3, 4, 18, 60 and 108 is: g WY Bl a7l T 4 gll, S 3, 4, 18, 60 3R 108 ¥
A 8100 8100
B 3600 3600
C 6400 6400
D 5180 5180


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

